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12. The mean absolute deviation measures the average variation between the number of hours

Marissa jogs and her mean jogging time.

To find the mean absolute deviation, first find the mean.
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The mean is 4 hours.
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The mean absolute deviation is about 1 hour.

So, the average number of hours that Marissa’s jogging times vary from her average

jogging time is about 1 hour.

Rubric
1 point for answer; 1 point for using mean absolute deviation; 1 point for work
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a. 1.5cars

b. The median is a measure of center.

Rubric

1 point for each part

a. First, order the data values from least to greatest.
6,7,8,8,9,10,10,12,13,15

9+10
2

b. The upper quartile is 12 points and the lower quartile is 8 points. So, th
rangeis 12-8 points.

c. The interquartile range for Sara’s team is 4 points, which is more than the interquartile
range of the other team. This means that the scores of Sara's team tend to vary more.

Rubric

a. 1 point

b. 1 point

c. 1 point for noting that Sara’s team has more variation in scores; 1 point for explanation
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The mean is about 9 customers per hour.

‘The median number of points per game per player is 5.

9

b. The median is % =7 customers per hour.

c. The mode is the value(s) that appears most often in the data set. Using a dot plot, the
mode corresponds to the value with the tallest stack of dots. So, the mode of this data
setis 6 customers per hour.

Rubric

a. 1 point

b. 1 point

c. 1 point for explanation; 1 point for mode
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16. No, neither claim is correct.
The mode is the value that appears most often in the data set. Two values, 6 and 9,
both appear 3 times. Landon was correct in finding 6 as a mode, but 9 is also a mode of
the data set.
The range is the difference between the least and the greatest values in the data set.
Landon asked for numbers between 1 and 10, but no one chose the number 1, so the least
value in the data set is 2, not 1. So, the range is 10~ 2=8.
Rubric
1 point for saying he is incorrect; 1 point for correct mode; 1 point for correct range; 2 points
for work
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6.SP.3
SELECTED RESPONSE

Select the correct answer.

1. The number of touchdowns scored by
one football team in each game during a
season is shown. What was the mean of
the touchdowns the team scored during
that season?

2,4,1,0,4,3,2,4,51,0,3,6,4,2.3
(@& 2.75 touchdowns
(B 3 touchdowns
(© 3.14 touchdowns
(D) 4 touchdowns

2. Jesse asked how many magazine
subscriptions each house on his street

had. These numbers are shown. What is
the interquartile range of the data set?

1,0,2,3,4,1,0,0,4,1,2,21
(A 0.5 subscription
(B 1 subscription
(© 2 subscriptions
(D) 2.5 subscriptions.
3. The number of showtimes for one movie

over several days is shown. What is the
mean absolute deviation?

9,6,8,9,7,4,3,524
(A 2.1 showtimes

For the data set shown, match each
measure of center or measure of variability
with its value(s).
2,6,8,3,4,6,2,6,8,56,27.84,3,27,
3.4

5 Mean A48
6. Median B35
— c19
— 7. Mode(s) D 2and6
___ 8 Mean absolute E 45
deviation F6
9. Interquartile range
10. Range
CONSTRUCTED RESPONSE

11. The daily maximum temperatures,
degrees Fahrenheit, for one town during
one week in summer are shown below.
93,99, 89,76, 68, 97, 71

a. Find the mean and the mean
absolute deviation. Show your work.
Round your answers to the nearest
tenth of a degree.

b. Explain the difference between the
interpretations of the mean and the
mean absolute deviation. Which is a
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(B 5.5 showtimes
(© 5.7 showtimes
(DD 11.4 showtimes

Select all correct answers.

4. Which measures describe the variation in
a data set?

(A Mean

(B Median

(© Mode

(D) Mean absolute deviation
(B Interquartile range

® Range

12,

measure of center? Which is a
measure of spread?

The data set shows the number of hours
Marissa jogs daily. What is the average
number of hours that Marissa’s jogging
times vary from her mean jogging time?
Show your work and round your final
answer to the nearest hour.

4,4,1,6,5,4,6,3,3
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13. Alex asks several households how many
cars they have. The number of cars in the
households is shown.

1,0,3,2,1,1,0222
a. Find the median of the data set.

15. Naomi works at an ice cream shop. She
i keeping track of how many customers
come into the store every hour for one
day. Each dot on the dot plot represents.
an hour period that Naomi's shop is open.

b. Is the median a measure of center or
ameasure of spread?

14. Sara's basketball team has 10 players.
‘The number of points each player scored
during a recent game is shown.
6,10,12,8,9,13,15,7,8,10

a. Find the median,

02 4 6 8 10 12 14
Number of Customers.
a. What is the mean of the data
set rounded to the nearest
whole number?

b. What is the median of the data
set rounded to the nearest
whole number?

b. Find the interquartile range.

c. How can you find the mode(s) of
the data set using the dot plot?
Find the mode.

16. Landon asks everyone in his class to pick
a number between 1and 10. These
numbers are shown.
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c. Ifthe interquartile range for another
basketball team is 3 points, do the
scores tend to vary more or less than
the scores of Sara's team? Explain
'how you know.

9,7,8,3,6,9,10,5,3,2,6,9,6,7
Landon claims the mode is 6 and the
range is 10— 1=9. Is he correct? If he is.
not correct, find the correct value(s) and
show your work.
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6.SP.3 Answers

©END O A LN
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The mean temperature is about 84.7 °F .

83+143+43487+167+123+4137_783 .,
7 7
The mean absolute deviation is about 11.2 °F.

b. The mean is the average temperature of all the temperatures in the data set. The mean
absolute deviation is the mean distance between all of the temperatures in the data set
and the average temperature. The mean is a measure of center, and the mean absolute
deviation is a measure of spread.

Rubric

a. 1 point for mean; 1 point for mean absolute deviation

b. 2 points





